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PUBLIC ADMINISTRATION

Paper 11

?

Time Allowed : 2 Hours] , [Maximum Marks : 200

Note :— This paper contains one hundred (100) multiple choice questions. Each

question carries two (2) marks. Attempt all questions.

1. Who said, “The field of administration is a field of business’ ?

(A) F.W. Taylor (B) Woodrow Wilson
(C) -Henri Fayol (D) Lyndall Urwick
2. ‘No supervisor can supervise directly the work of more than five or at

the most, six subordinates whose work interlocks’. The statement was

made by :
(A) L.F. Urwick (B) Henri Fayol
(C) Luther Gulick (D) J.D.-Mooney
3. Promotion which does not receive any increase in salaries is called :
(A) Zero promotion (B) Dry promotion
(C) Horizontal promotion (D) Paper promotion
4. Ifa manufactuﬁﬁg company has divided its departments into pattern making,

fabric cutting, and fabric coloring; what type of departmentalization is
this ?

(A) Geography Departmentalization
(B) Process Departmentalization
(C) Project Departmentalization

(D) Function Departmentalization
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5. ‘The Future of Public Administration around the world : The Minnowbrook

Perspective’ deals with :
(A) The Ist Minnowbrook Conference
(B) The IIst Minnowbrook Conference

(C) The IIIrd Minnowbrook Conference

(D) Blacksburg Conference

6. Who of the following has described authority as the ‘supreme coordinating
power’ ?
(A) Karl Popper (B) Jean Piaget
(C) Max Weber (D) J.D. Mooney and A.C. Reiley

1 What are the four interconnected themes that have emerged in recent years

as ‘new’ directionality in the discipline of Public Administration ?

(A) Democratic participation, globalization, network administration and

governance

(B) Democratic participation, globalization, network administration and

governmentalization
(C) Decentralizatioh, debureaucratization and integration
(D) Decentralizatioh, industrializatipn and technological revolution
8. Which one of the following is not the basis of New Public Service Theory ?
(A) Theory of Democratic Citizenship
(B) Models of Community and Civil Society
(C) Organizational Humanism and Discourse Theory

(D) Public Choice Theory |
T.B.C. : 16/18/SET—II 4
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9. In his famous text the Arthashastra, Kautilya mentions ‘Mahamatras’

for :
(A) A class of senior officials who were charge of defence
(B) A class of senior officials who were charge of home affairs

(C) A class of senior officials who were charge of foreign affairs

(D) A class of senior officials who were in-charge of various aspects of

administration and justice

10. Herbert Simon proposed a new concept of administration based on the

methodology of :
(A) Decision-making | (B) Bounded rationality
(C) Logical positivism (D) Satisfying

11.  Which one of the following thinkers was first to talk about the concept of

‘Constructive Conflict’ in an organization ?
(A) Elton Mayo . "~ (B) Mary Parker Follett

(C) Peter Blau (D) Henri Fayol

12.  One who tells one’s supervisor anything detrimental to an associate is

called :
(A) A squealer (B) A rate buster
(C) A chiseller (D) None of these

T.B.C. : 16/18/SET—II 6
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13.

14.

15.

T.B.C. :

Which of the following are propounded by the ‘Theory Y’ of Douglas
McGregor ?

1.  Exercises self-direction in the service of objectives that he seeks to

-realize
2. Has commitment to objectives as a function of rewards
3. Inherently likes work
4. Has a capacity for imagination, ingenuity and creativity.
Which of the above are correct ?
(A) 1, 2 and 4 only
(B) 1, 2 and 3 only
(C) All of the above
(D) 3 and 4 only
The Hawthorne studies invented that :

(A) To increase workers’ efficiency, management must analyze and minimize
the motions required to complete a task.

(B) When workers know they are being watched, their productivity
increases.

(C) Found that a worker is inherently lazy and will use any excuse not to
perform their duties.

(D) Found that workers accept a managerial directive only if it is acceptable
in terms of their personal interests.

Which of the following is not correctly matched ?
(A) Urwick — Unity of Command

(B) Taylor — Functional foremanship

(C) Fayol — Gangplank

(D) Gulick — Bases of Departmentalization
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16.

17

18.

19.

20.

Which one of the following techniques was employed by Taylor in order to
replace conflict by peace, harmony and cooperation between management and

workers ?
(A) Science of work (B) Piece rate system
(C) Mental revolution (D) Art of cutting metal

A post-modernist perspective of Public Administration is characterized by :
(A) Localization, Centralization and Debureaucratization
(B) Localization, Decentralization and Debureaucratization

(C) Accountability, Acceptability and Tﬁ'ansparéncy

. (D) Decentralization, Democratization and De-marketization

The New Right Philosophy believes that :

(A) The bureaucracy is more effective than the Government in achieving
social goals

(B) The market is more effective than the Government in achieving social
goals

(C) The Government is more effective than the market in achieving social
goals

(D) The civil society is more effective than the Government in achieving
social goals

Which of the following reports is considered to be the watershed in the growth
of bureaucracy in India ?

(A) Macaulay Minutes (B) Simon Commission Report
(C) Redcliff Committee Report (D) Sadler Committee Report

The Union Public Service Commission of India has been established under
the :

(A) Article 315 (B) Article 320
(C) Article 325 ‘ ~ (D) Article 335
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21.

22

23.

24.

25.

Which of the following nationalist leaders defended the continuity of Indian
Civil Services (ICS) ? '

(A) Mahatma Gandhi (B) Rajendra Prasad
(C) Vallabhbhai Patel ' (D) Maulana Azad

Which one of the following theoretical constructs upholds the idea of
Bureaucracy being loyal to the political party in power ?

(A) Depoliticized bureaucracy (B) Semi-politicised bureaucracy

(C) Committed bureaucracy (D) Fully i)oliticised bureaucracy

| Pocket Veto is enjoyed by :

(A) the Chief Justice of the Supremeb Court

(B) the President of India

(C) the Prime Minister of India

(D) the Chief Minister of the State

The Royal Commission (1907) on Decentralisation was headed by :
(A) Lord Dalhousie (B) Lord HobHouse

(C) Lord Rippon (D) Lord Mayo .

Assertion (A) : The relationship of a Minister and a Civil Servant is that
of a Master and a Servant.

Reason (R) : A Civil Servant is required to render honest advice to the
Minister.

Codes

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(B) Both (A) and (R) are correct, but (R) is not correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.
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26.

- 27.

28.

29.

“Every person holding a civil post in British India holds it during the pleasure
of His Majesty and may not be dismissed from the service by an authority
lower in rank than the authority which appointed him.” It was provided for

the first time by which of the following Acts ?
(A) Government of India Act, 1858

(B) Indian Council Act, 1892

(®); Government of India Act, 1919

(D) Government of India Act, 1935

Who of the following headed the committee that recommended merging Railway
budget with Union budget ?

(A) Bibek Debroy (B) Meghnad Desai
(C) Jagd_ish Bhagwati (D) Arjun Sen Gupta

The term ‘Iron-cage’ for bureaucracy has been coined by whom of the

following ?

(A) Max Weber - (B) A. Masl(.)_w

(C) McGregor | (D) C.I. Barnard

Which one of the following fits in with the concept of Glass Ceiling ?
(A) Participation of Women in Administration

(B) Participation of LGBT Community in Administration

(C) Exclusive participation of men

(D) Locating efficiency in Administration

T.B.C. : 16/18/SET—II 14
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30. Match List-I with List-IL. Select the correct answer from the codes given
below there :

List-I (Concept) List-II (Explanation)
(@) Hierarchy (i) Number of subordinates to be

controlled by the superior

(b) Span of Control (ii) Superior-subordinates relation-
ship in terms of control and
communication

(¢) Coordination (iii) A subordinate should get orders

from one immediate boss

(d) Unity of Command (iv) Synchronising the programmes
and avoiding duplicity

Code :

@ @ @ @

A @ @ @) @)

B) @ @ @) @)

C) G O i) @)

M) @ 6 G @)

31. Who heads the NITI Aayog as its chairperson?
(A) President of India (B) Prime Minister
(C) Finance Minister (D) Minister of Planning

39.  Constitution (73rd Amendment) Act, 1992 makes provisions for a 3-tier system
of Panchayati Raj for all the States having population of above :

(A) 15 Lakh (B) 20 Lakh

(C) 25 Lakh (D) 30 Lakh
T.B.C. : 16/18/SET—II 16
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33.  Which among the following Acts are linked with sought to self-governance ?
(A) 73rd Amendments Act
(B) 74th Amendments Act
(C) 75th Amendments Act
(D) Both (A) and (B)

34. Assertion (A) : Panchayati Raj Institutions could not become effective even

after 73rd Constitutional Amendment.

Reason (R) : State Governments have not given adequate powers, finances

and personnel to Panchayati Raj Institutions.
Codes :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both:(A) and (R) are-correct, but (R) is not the correct. explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

35. Assertion (A): The-bureaucracy plays an important role in policy formulation.

Reason (R) : The formulation of policy requires the advice of persons who

are impartial or neutral.

Codes :

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
T.B.C. : 16/18/SET—II 18
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36.

37.

38.

39.

40.

The police force of a district to maintain law and order is under the general

?

supervision of :

(A) Law minister of the state

(B) Home minister of the state

(C) Collector and Magistrate of the district

(D) Superintendent of the district

Where was the first Municipal Corporation set up in India ?

(A) Bombay . (B) Calcutta

(C) Madras (D) Surat

The phrase ‘developmental bureaucracy’ was coined by :

(A) Joseph La Palambora (B) Fred. W. Riggs.

(C) William Siffin (D) Edward Weidner

Who is credited with the idea of ‘Ecology of Admi,nistration’ ?

(A) Sydney Verba . (B) Lucion PieA

(C) Fred Riggs (D) Dwight Waldo

The theory of ‘Prismatic Society’ in Public Administration is based on :
(A) Study of public services in developed and developing countries

(B) Institutional comparison of public administration in developed countries

(C) Structural-functional analysis of public administration in developing

countries

(D) Historical studies of public administration in different societies

T.B.C. : 16/18/SET—II 20
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41.

42.

43.

44.

45.

46.

The concept of ‘Tragedy of the Commons’ means :

(A) A thing which owns nobody cannot be protected
(B) A thing which can be proﬁected by all

(C) A thing which can be protected by common people
(D) A thing which can be protected by tribals

What is the time limit set by the UN on 25th September, 2015 for achieving

Sustainable Development Goals ?

(A) 5 years (B) 10 years»

©) 15 years (D) 20 years

‘March rush’ a term used in budgetary practices is caused by :
(A) Audit (B) Expenditure

(C) Financial .transactions (D) Rule of lapse

Who among the following was the chairman of the Ist Administrative Reforms

Commission (ARC) ?

(A) Jagjivan Ram (B) Charan Singh
(C) K. Hanumanthaiah (D) K. Santhanam

Which social movement triggered the processes leading to the formation of

the institution of Lok Pal in India ?

(A) India against Corruption (B) Total Revolution

(C) Chipko movement (D) Narmada Bachao Andolan
‘PAHAL’ scheme is related with : |

(A) Agriculture Loan (B) Direct Transfer of LPG Subsidy

(C) Women Education (D) Child Education
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T.R.C.
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47.

48.

49.

50.

Mission ‘Indradhanush’ is related with :
(A) Children Safety, (B) E-Commerce
(C) Child Vaccination (D) None of these

Swachchh Bharat Mission (Rural) programme comes under which

ministry ?

(A) Ministry of Panchayati Raj

(B) Minisfry of Drinking Water and Sanitation

(C) Ministry of Woman and Child Development

(D) Ministry of Rural Development

Under which Ministry National Disaster Management Authority comes ?
(A) Ministry of Environment (B) Ministryhof Foreign Affairs |
(C) Ministry of Pollution (D) Ministry of Home Affairs

Which one of the following statements is not correct about civil society

organisations ?

(A) They are Governmental bodies

(B) They are voluntary but non-profit making agencies
(C) They work in close proximity with people

(D) They create awareness; educate and sensitize people on common issues

and act as catalysts of social change
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52.

53.

On which of the following factors does people’s participation depend for its
success in influencing the governance process ?

1. Ability of the people to participate

2. Willingness of the people to participate
3. Opportunity to the people to participate
4. Mechanisms available for participation.
Code :

(A) 1, 2 and 4 only

(B) 1, 2 and 3 only

“(C) 3 and 4 only

(D) All of the above

Arrange the following steps in Research Process in a logical sequence :
(@) Data collection

(i) Setting df objectives

(iii) Report writing

(iv) Data analysis

Codes :

A G, @), Go), (i)

B) @), (i), (iid), (iv)

(C) Gu), Gv), @), ()

D) G, Gu), G2), @)

According to Goode and Hatt simple observation is most useful for which of
the following ?

(A) Descriptive Studies (B) Diagnostic Studies

(C) Experimental Studies (D) Exploratory Studies
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() SiFe THe

() 3ewdl & A

i) O oem
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(A) @), (@), (), (i)

B) (@), Gi), (i), Gv)
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IgEf § 2
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54.

55.

56.

57.

Which method of training is connected to real life problem ?
(A) Role play (B) In-basket method
(C) Business games (D) Case study

Which of the following research types focuses on ameliorating the prevailing
situations ?

(A) Fundamental Research (B) Applied Research
(C) Action Research (D) Experimental Research

Which one of the following methods of data collection is independent of people’s
willingness to report ?

(A) Questionnaire method (B) Interview method
(C) Observation method (D) Projective technique

Match List-I with List-II. Select the correct answer from the codes given
below the lists :

List-I (Chairman) List-II (Committee)
(@ D.S. Kothari (0) Committee on the Recruitment of
Services '
) Satish Chandra (i) Committee to Review in-Service

Training of IAS officers

(¢ Y.K. Alagh | (i) Committee on the Recruitment
' Policy and Selection Method
(d) B.N. Yugandhar (iv) Committee on Civil Service
Examination
Codes :

@ ® © @
A @) @ O @)
B @ @ @ @
© @ 6O @ @
D) @v) @ @) ©

T.B.C. : 16/18/SET—II 28



54.

55.

56.

57.

TR

o9 Se F guen @ wiwem @ e fafy wEfa w2
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H
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C) @) @ @) @
D) () @ @) 6
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58.

59.

60.

I.B.C.

The New Public Administration is a quest for :

(A)
(B)
(C)
D)

Ethical values and scientific analysis

’

Scientific analysis and relevance

Relevance and ethical values

Excellence

Who among the following headed the committee on preventlon of

corruption ?

(A)
(B)
(C)
(D)

N.V. Ayyangar
P.V. Subbaiah
K. Santhanam

K. Hanumanthayya

Match List-I with List-II and select the correct answer by usmg the codes

given below the lists :

(a)

Llst-I

Top-down theory

() Bottom-up theory
(¢) Self-actualization theory
(d) Cybernetic theory4
Codes :

@ ® @ @
A 4 2 3 1
B 2 4 1 3
@ 4 2 1 3
M 2 4 3 1
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A.S. Maslow
F.W. Taylor
Norbert Weiner
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61.

62.

63.

64.

65.

66.

Who among the following participated in the making of Government of India

Act, 1935 ?
(A) B.N. Rau (B) R.C. Mittel

(C) B.N. Sen (D) N, Gopalashwami Ayangar

What was the theme of World Environment Day that was celebrated on 5th
June, 2018 ?

(A) Put an end to air pollution (B) Beat Water Pollution
(C) Beat Plastic Pollution (D) Say No .to Crackers
The idea of ‘paradigm shift’ is attributed to :

(A) Thomas Kuhn (B) Alfred Nobel

(C) Robert McNamare (D) John K. Galbraith

Which Act helped in Indianisation of the public service during the colonial

rule ?
(A) Charter Act, 1834 (B) Charter Act, 1835
(C) Charter Act, 1836 (D) Charter Act, 1833

Which report suggested increasing the association of Indians with every

department of the administration ?
(A) Minto-Morley Re‘port (B) Minto-Ford Report

(C) Cripps Mission Report (D) Simon Commission Report

“ Which Act provided the establishment of the Public Service Commission

of five members based on the British model to conduct examination in
India ?

(A) Government of India Act, 1917 (B) Government of India Act, 1918

(C) Government of India Act, 1919 (D) Government of India Act, 1920
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IRa s Afufraw, 1935 & fmio § feafafe § @ feeq awm foan 2

(A) s.T. @ , (B) .. fida

(C) @ W (D) TH. TMUeRam SER
5 S, 2018 ! ™ T fova waieRw fgow fed fawg w emuf@ @ ?

(A) o1 YGUU H < HEA! (B) & YW hl BIAI
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“tgaaaumwﬁaﬁ?” (reey i) &t sy fheq &1 2
(A) 9" w7 (B) #he A

(C) T HFMN (D) < & e

IUFASH A B ERE A qa & URdER | few srfufem ¥ Weg & ?
(A) =R sfufrem, 1834 (B) =X aifufm, 1835

(C) = wrfufm, 1836 _ (D) =R sAfyfem, 1833

frg OR & a2 gom Ko i oo & wos faum #§ wRddl &1 g6 9g™
ST '

A) =R-Ae Rl (B) fa=i-wrE fiurd

(C) frw fgm Rl (D) weHA HHeE ok

forg sifufrem 7 9ra 7 fafew &9 W Wean w0 3g 99 Soig o 91 &M
H T HT?

(A) YRd &R Afuf=y, 1917 (B) 9Rd &R Afuftam, 1918

(C) YRd &R AfufgH, 1919 (D) 9Rd &R AYHIE, 1920
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67.

68.

- 69.

70.

11,

72.

Which among the following is not an example of Civil Services in India ?
(A) All India Services (B) Central Services

(C) State Services (D) Union Services

Who among the following is the controlling authority of the All India Services ?
(A) Ministry of Minority Affairs

(B) Environmental and Forest Ministry

(C) Ministry of Civil Aviation

D) Ministry of Personnel, Public Grievances and Pension

Which report was responsible for the formation of the Indian Institute of Public
Administration ?

(A) Minto-Morley Report (B) Mountbatten Report

(C) Appleby Report (D) Hastings Reporf

Which Act .Was replaced by the Right to Information Act of 2005 ?

(A) Official Secret Act of 1923 (B) Official Secret Act of 1924

(C) Official Seéret Act of 1925 (D) Official Secret Act of 1926

The delay in the functioning of the administration is known as ............... .
(A) Red-tapism (B) Corruption

(C) Favoritism D) Discrimiﬁation

Article 51-B of the Indian Constitution deals with :

(A) Federalism (B) Due process

(C) Fundamental duties (D) Election Commission

T.B.C. : 16/18/SET—II 34



67. frefafes # ¥ #F@ yRd § e Yol &1 [ @ 7 ?
(A) axﬁaasmﬂ-qaarq (B) = Famd
(C) T Famd (D) W Fand
68. Frafafed # ¥ sfee wda Jansll &1 Fress wivewtn &7 ¢ 2
(A) IHEE FE TACH
(B) waiaRw 3R a9 HACHE
(C)wmﬁasgmﬁam
(D) i, ok fomeprad 3R WM wAe™
69. WA ik WTEH GegE & fmin ¥g #AE fol seeEt 7 2
A) frR-ae e (B) ws=eed fue
(©) wuae frard (D) e R
70. Wﬁrmmﬁwﬂ,zws%mmmaﬁxﬁﬁqﬁuﬁwﬁaﬁmw?
(A) T MoeEar sifafem, 1923 - (B) USehtd oerEan fufam, 1924
(C) TShig o sfufm, 1925 (D) TShiE wioHEan fufEm, 1926
71, WIEH & w@ yoer # foera ® 9E S €
(A) TR (B) YRTER
(C) u&u (D) RWE
72.  9RAE GfgUH # sk 51-B TEfhd ¥ :
&) wER J (B) St whw &

(C) wifew w4 (D) T JET |
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73.

74.

76.

1.

Procedure for electing a candidate in the Lok Sabha poll is based on :
(A) Proportional representation

(B) First past the post

(C) Reputed perst;n in the academia

(D) Based on Wealthy, Age and Pedigree

While conceptualizing ‘Gender in Public Administration’” who among the

following introduced the idea of ‘Phronesis’ ?
(A) Aristotle (B) Plato , o
(C) Weber (D) Wilson

Who among the following questioned the claim of Public Administration to

being a Science ?
(A) Robert Dahl (B) Gulick and Urwick
(C) James G. March (D) Chester Barnardv

Which of the following campaign led to the promulgation of RTI Act,
2005 ?

(A) .India against Corruption

() Narmada Bachao Andolan

(C) Majdoor Kisan Shakti Sangathan

(D) Sampurna Kranti

Rule of law as a conceptual construct owes its origin to the work of :
(A) Hugo Grotius (B) A.V. Dicey

(C) Max Weber (D) A.O. Hume
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79.

'80.

81.

82.

What did John Major do to further democratize Public Administration ?
(A) Whitley council (B) Ombudsman
(C) Citizen’s Charter (D) Right to information

Which one of the following is not a measurement of central tendency of a

data ?
(A) Mean (B) Median
(C) Chi Square (D) Mode .

Which one of the following is not included in the review of literature in a

.resear_ch ?
(A) Authorized books (B) Articles
(C) Reports (D) Edited books

Which one of the following is not a citation style of social science research ?
(A) American Psychological Association (APA) style

(B) Chicago Style

(C) Modern Language Association (MLA) style

(D) British Political Association (BPA) style

Which one of the following is an issue about which a Governor cannot make

a recommendation to the President ?

(A) Dismissal of the State Council of Ministers
(B) Removal of the judges of the High Court
(C) Dissolution of the State Legislative Assembly

(D) Declaration of breakdown of the constitutional machinery in the state
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83.

84.

85.

36.

Which one of the following is not a primary function of the accounting
system ?

(A) To reveal financial conditions of the organization

(B) To provide an escape route to those who handle funds

(C) To prevent unnecessary adjustments in the expenditures

(D) To help auditing

Which one of the following statements about audit is not correct ?

(A) It adopts a fault-finding approach

(B) It concerns itself with financial propriety

(C) It is concerned with adherence to rules, regulations and procedures
(D) It critically examines income, expenditure and performance

Which one of the following statements about the systems approach to

organization is not correct ?
(A) It is derived from general systems theory
(B) It studies the organization as a whole in relation to its environment

(C) It leads to the formulation of certain fundamental principles of

organization

(D) It views the organization and its environment as interdependent for inputs

and resources
The Hawthorne experiments of Mayo revealed the importance of :
(A) Standardization of work procedure
(B) Informal social factors in organization
(C) Payment on group basis

(D) Positive management response to all types of demands of workers
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e A 9 9 AT Haedl &l T qiafyes & 98 § 2
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According to the Classical school, the science of administration was based

on

(A)
(B)

(C)

(D)

Absence of ethical or normative values
’
Presence of human emotions in an organisation
Presence of scientific principles and methods of universal application

Presence of empirical base of knowledge

Which one of the following is not correctly matched ?

(A)

(B)

(€)
D)

Public Administration : collective activity, organization and management
and management of men and materials '

Development Administration : change and administrative responsiveness,
rationality, management-worker relationship

Comparative Administration : From ideographic to nomothetic

New Public Administration : Relevance, values, social equity and change

Which of the following is not a function of Public Administration ?

(A)
(B)
(&)
(D)

To implement public health programmes
To resolve problems of foreign policy
To settle disputes between private companies and labour unions

To obtain cooperation from the public in maintaining law and order

Which one of the following statements is true about the duties and

responsibilities of the District Collector holds good in every state ?

(A)
(B)
(€)

(D)

The state government is represented by him at the district level
Upward reporting by the departmental officers is done through him

Handling of crisis situation is passed on by him to the departmental
officers |

He is the hub of all developmental activities
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91.  Which one of the following is not considered as part of the civil society ?
(A) Non-governmental organizations
(B) Caste Associations
(C) Legislature
(D) Resident Welfare Associations
92.  Herbert Simon’s model of decision-making is also known as :
(A) Disjointed incrementalist model (B) Behayimir alternative model
(C) Mixed Scanning model (D) Muddling through model
93. Deficit ﬁnancing is resorted to by the government :
(A) To increase the budget allocation for different ministries
(B) To meet the gap betwee;l the revenue and expenditqre budgets
(C) To increase government expenditure on specific items

(D) To meet the obligations arising out of the recommendations of the

Administrative Reforms Commission

94.  Which one of the following statements is not true about the Advocate-General

of a state in India ? .

(A) The Advocate-General holds the office during the pleasure of the Governor
(B) The Advocafe-General of the state is appointed by the Governor

(C) The Advocate-General advises the state government on legal matters

(D) The Advocate-General cannot take part in the proceedings of the state

legislature
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92.

93.

94.

frefafen § ¥ 5 TR 0 & fes T8 9F1 S 2
(A) N-WER e’
(B) W G

| (C) faunfaar

(D) SETEHE FHA HiTHA

T W % fofr-frfn @ dtew 1 e o

(A) =g IFeWH Aled (B) =R frwe W
(C) fafsa whfm dtew (D) wsfam g e
&R g wR fawm e s §

(A) fofy= moe@l & faq swe omEed # sgn & fou

(B) &% H 3 3R & & H W H WA & U

©) e @ W T e A T @

(D) WRTEfTH FER SEN R T fAEiEl § s v @ ay w quown @

fere

Y4 & & T & TWerveasm & o9r ¥ frefafed § @ s @ #99
T TE ¢ ?

(A) memmm%wméw%
(B) U & weifae & Fgfe Tsaqe il &

- (C) TEIfeET TS &R H faurh wme § west fa@ ¥

D) meﬁwﬁaﬁa@ﬁmﬁém%
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99.

100.

Which one of the following statements about design-stage of decision-making

process is correct ?

(A) Inventing, developing and analyzing possible courses of action
(B) Finding occasions calling for a decision

(C) Selecting a particular course of action from those available
(D) Carrying out a decision

An important reason for delegation of authority from headquarters to field-

offices is to : »

(A) Inculcate skill in the latter (B) Facilitate local decision-making
(C) Decongest the headquarters (D) Control the field office

How was the erstwhile Planning Commission formed ?

(A) By a legislation (B) By a Prime Minister’s decrée
(C) By an executive order (D) By a judicial pronouncement

Who allocates the business to various ministries and departments in the

government of India ?
(A) Prime Minister’s secretariat (B) President’s secretariat
(C) Parliament’s secretariat (D) Cabinet secretariat

Which one of the following tools of control may be adopted for raising a
discussion in the house on a matter of urgent public importance ?

(A) Censure motion (B) Calling attention motion
(C) Cut motion (D) Adjournment motion

Who among the following was not associated with the evolution of the concept
of ‘New Public Administration’ ?

(A) Frank Marini (B) H. George Frederickson
(C) Dwight Waldo (D) Herbert Simon
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frafafien § ¥ Fw woA folg fmfo gien & feoes @ & foo @@ ® 2
(&) Wt Frdfaf &1 s, foabm qun foersor
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(C) v wHEfafedl § @ e fAfvea srifafy w1 =37 s
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